

534.1+62-5

.. , ..

[1-2],

$$\left(\frac{\partial u}{\partial x} + h_1 u\right)_{x=l} = \varepsilon \xi(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}) \Big|_{x=l} \quad (2)$$

$$(1) \quad u(x, t) - \quad ( \quad )$$

[3-6].

$$f(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}) - \quad ; \varepsilon > 0 -$$

[6-8].

( ) [9].

$$\eta(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}), \xi(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}),$$

[6-8, 10].

$$\Omega ( \quad ) - \quad a$$

$$T_1, T_2, \dots, T_N \quad a_1, a_2, \dots, a_N; \quad a(t) \quad T(t).$$

$$\frac{\partial^2 u}{\partial t^2} - \alpha^2 \frac{\partial^2 u}{\partial x^2} = \varepsilon f(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}). \quad (1) \quad [7-8],$$

$$\left(\frac{\partial u}{\partial x} + hu\right)_{x=0} = \varepsilon \eta(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}) \Big|_{x=0};$$

$$\begin{aligned} \frac{da}{dt} &= \varepsilon A(a); \\ \frac{d\psi}{dt} &= \Omega = \omega + \varepsilon B(a), \end{aligned} \quad (3)$$

$$\psi - \quad , \quad \omega - \quad ( \quad ; A(a) \quad B(a)$$

( $\varepsilon=0$ ) , (1), (2),

$$\frac{\partial^2 u}{\partial t^2} - \alpha^2 \frac{\partial^2 u}{\partial x^2} = 0, \quad (4)$$

$$\left( \frac{\partial u}{\partial x} + hu \right)_{x=0} = 0;$$

$$\left( \frac{\partial u}{\partial x} + h_1 u \right)_{x=l} = 0. \quad (5)$$

(5)

$$u_0(a, x, \psi) = a \left[ \cos(\kappa_1 x) - \frac{h}{\kappa_1} \sin(\kappa_1 x) \right] \cos(\omega t + \varphi), \quad (6)$$

$\varphi - \quad , \quad \kappa_1 - \quad ,$

$$tg(\kappa l) = \frac{\kappa(h_1 - h)}{\kappa^2 + hh_1}. \quad (7)$$

$$u(x, t) = u_0(a, x, \psi) + \varepsilon u_1(a, x, \psi), \quad (8)$$

$$u_0(x, t) \quad u_1(x, t) - 2\pi -$$

$\psi , \quad u_1(x, t)$

(6)-(8) (1)-(2),

$$\omega^2 \frac{\partial^2 u_1}{\partial \psi^2} - \alpha^2 \frac{\partial^2 u_1}{\partial x^2} = f_0(a, x, \psi) + \quad (9)$$

$$+ 2\omega \left[ \cos(\kappa_1 x) - \frac{h}{\kappa} \sin(\kappa_1 x) \right] \cdot [A(a) \sin \psi + aB(a) \cos(\psi)]$$

$$\left( \frac{\partial u_1}{\partial x} + hu_1 \right)_{x=0} = \eta_0(a, x, \psi)_{x=0};$$

$$\left( \frac{\partial u_1}{\partial x} + h_1 u_1 \right)_{x=l} = \xi_0(a, x, \psi)_{x=l}, \quad (10) \quad (15)$$

$$f_0(a, x, \psi) = f \left( u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t} \right) \Bigg|_{u=u_0};$$

$$\eta_0(a, x, \psi) \Big|_{x=0} = \eta \left( u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t} \right) \Bigg|_{u=u_0, x=0};$$

$$\xi_0(a, x, \psi) \Big|_{x=l} = \xi \left( u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t} \right) \Bigg|_{u=u_0, x=l}. \quad (11)$$

(9)-(10)

$$u_1(a, x, \psi) = v_1(a, x, \psi) + w_1(a, x, \psi), \quad (12)$$

$w_1(a, x, \psi)$

$$\frac{\partial^2 w_1(a, x, \psi)}{\partial x^2} = 0; \quad (13)$$

$$\left( \frac{\partial w_1}{\partial x} + hw_1 \right)_{x=0} = \eta_0(a, x, \psi)_{x=0};$$

$$\left( \frac{\partial w_1}{\partial x} + h_1 w_1 \right)_{x=l} = \xi_0(a, x, \psi)_{x=l} \quad (14)$$

$$w_1(a, x, \psi) = \frac{1}{h_1 - h(1+h_1 l)} \left[ x(h_1 \eta_0(a, x, \psi) \Big|_{x=0} - h \xi_0(a, x, \psi) \Big|_{x=l}) - (5)(1+h_1) \eta_0(a, x, \psi) \Big|_{x=0} \right] v(a, x, \psi) \quad (13)$$

$$\omega^2 \frac{\partial^2 v_1}{\partial \psi^2} - \alpha^2 \frac{\partial^2 v_1}{\partial x^2} = f_0^*(a, x, \psi) + [2\omega \cos(\kappa_1 x) - \frac{h}{\kappa} \sin(\kappa_1 x)] \cdot [A(a) \sin \psi + aB(a) \cos(\psi)] \quad (15)$$

$$\left( \frac{\partial v_1}{\partial x} + hv_1 \right)_{x=0} = 0; \quad (16)$$

$$\left( \frac{\partial v_1}{\partial x} + h_1 v_1 \right)_{x=l} = 0,$$

$$f_0^*(a, x, \psi) = f_0(a, x, \psi) - \frac{\omega^2}{h_1 - h(1+h_1 l)} \times$$

$$\times \left[ (xh_1 - lh_1 - 1) \cdot \frac{\partial^2 \eta_0(a, x, \psi)}{\partial \psi^2} \Big|_{x=0} + \right.$$

$$\left. + (1+h) \cdot \frac{\partial^2 \xi_0(a, x, \psi)}{\partial \psi^2} \Big|_{x=l} \right].$$

$v_1$  (14)-

$$v_1(a, x, \psi) = \sum_{n=1}^{\infty} b_n \left[ \cos(\kappa_n x) - \frac{h}{\kappa_n} \sin(\kappa_n x) \right] \times$$

$$\times \cos\left(\frac{\kappa_n}{\kappa_1} \psi + \theta_n\right) + \sum_{n=1}^{\infty} v_n^{(1)} \left[ \cos(\kappa_n x) - \frac{h}{\kappa_n} \sin(\kappa_n x) \right], \quad (17)$$

(4)-(5),

$$(7); \quad v_n^{(1)}(a, \psi) =$$

(17)

$$(16). \quad (15)$$

$$X_n(x) = \cos(\kappa_n x) - \frac{h}{\kappa_n} \sin(\kappa_n x)$$

$$v_1^{(1)}(a, \psi)$$

$$\omega^2 \left[ \frac{\partial^2 v_1^{(1)}}{\partial \psi^2} + v_1^{(1)} \right] = \frac{1}{p} \int_0^l f_0^*(a, x, \psi) \left[ \cos(\kappa_1 x) - \frac{h}{\kappa_1} \sin(\kappa_1 x) \right] dx + \quad (21)$$

$$+ 2\omega \cdot [A(a) \sin \psi + aB(a) \cos(\psi)], \quad (18)$$

$$p = \int_0^l \left[ \cos(\kappa_1 x) - \frac{h}{\kappa_1} \sin(\kappa_1 x) \right]^2 dx.$$

$$A(a) = \frac{-1}{2\pi\omega ap} \int_0^l \int_0^{2\pi} f_0^*(a, x, \psi) \left[ \cos(\kappa_1 x) - \frac{h}{\kappa_1} \sin(\kappa_1 x) \right] \sin \psi d\psi dx$$

$$B(a) = \frac{-1}{2\pi\omega ap}$$

$$\int_0^l \int_0^{2\pi} f_0^*(a, x, \psi) \left[ \cos(\kappa_1 x) - \frac{h}{\kappa_1} \sin(\kappa_1 x) \right] \cos \psi d\psi dx \quad (19)$$

$$A(a) \quad B(a)$$

$$\eta(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}) = \sum_{k=1}^N c_k \eta_k(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t});$$

$$\xi(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}) = \sum_{k=1}^M c_{N+k} \xi_k(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}); \quad (20)$$

$$\eta_k(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}), \xi_k(u, \frac{\partial u}{\partial t}, \frac{\partial u}{\partial x}, \frac{\partial^2 u}{\partial x^2}, \frac{\partial^2 u}{\partial x \partial t}) -$$

$$; c_k, d_k -$$

(2)

(3).

$$A(a) = \frac{-1}{2\pi\omega ap} \int_0^l \int_0^{2\pi} f_0(a, x, \psi) \left[ \cos(\kappa_1 x) - \frac{h}{\kappa_1} \sin(\kappa_1 x) \right] \sin \psi d\psi dx +$$

$$+ \frac{\omega^2}{h_1 - h(1+h_1l)} \int_0^l \int_0^{2\pi} \left\{ (xh_1 - lh_1 - 1) \sum_{k=1}^N c_k \frac{\partial^2 \eta_k(a, x, \psi)}{\partial \psi^2} \Big|_{x=0}^{x=l} \right. +$$

$$\left. + (1+h) \sum_{k=1}^M c_{N+k} \frac{\partial^2 \xi_k(a, x, \psi)}{\partial \psi^2} \Big|_{x=l}^{x=l} \right\} \sin \psi d\psi dx; \quad (21)$$

$$B(a) = \frac{-1}{2\pi\omega ap} \int_0^l \int_0^{2\pi} f_0(a, x, \psi) \left[ \cos(\kappa_1 x) - \frac{h}{\kappa_1} \sin(\kappa_1 x) \right] \cos \psi d\psi dx +$$

$$+ \frac{\omega^2}{h_1 - h(1+h_1l)} \int_0^l \int_0^{2\pi} \left\{ (xh_1 - lh_1 - 1) \sum_{k=1}^N c_k \frac{\partial^2 \eta_k(a, x, \psi)}{\partial \psi^2} \Big|_{x=0}^{x=l} \right. +$$

$$\left. + (1+h) \sum_{k=1}^M c_{N+k} \frac{\partial^2 \xi_k(a, x, \psi)}{\partial \psi^2} \Big|_{x=l}^{x=l} \right\} \cos \psi d\psi dx \cdot$$

(21)

$$c_k, d_k.$$

(21)

$$\{\xi_k\}, \{\eta_k\}$$

a,

(21)

a,

a

[13-14],

$$J_\eta = \int_0^{2\pi} \left[ \cos \psi \sum_{k=1}^N c_k \eta_k(a, x, \psi) \Big|_{u=0}^{u=l} \right]^2 d\psi;$$

$$J_\xi = \int_0^{2\pi} \left[ \cos \psi \sum_{k=1}^M c_{N+k} \xi_k(a, x, \psi) \Big|_{u=0}^{u=l} \right]^2 d\psi. \quad (22)$$

(21)

$$c_i = H_i(c_{s+1}, \dots, c_{N+M}), \quad i = 1, 2, \dots, s,$$

$H_i =$

(22)

$$\frac{\partial J}{\partial c_{s+i}} = \varphi_i(c_{s+1}, c_{s+2}, \dots, c_{N+M}) = 0, \quad (23)$$

$$i = 1, 2, \dots, N + M - s.$$

(21) (23)

$c_k,$

